Regulation/Activity	Total Annual Responses	Annual Burden Hours*	\$ Value of Annual Burden Hours
General Permits**			
	212	3,524	\$298,366.52
Specific Permits			
	70	5,850	\$443,009.06
Miscellaneous Eagle Permits			
	2,628	5,056	\$242,041.58
Miscellaneous Reporting Requ	irements***		
	1,529	12,154	\$1,055,375.95
Miscellaneous Requirements			
	3,967	6,298	\$457,875.71
Totals:	8,406	32,882	\$2,496,668.82

^{*} Rounded to match ROCIS

^{**} General permits are not reviewed by USFWS personnel and have no government cost

^{***} Reporting requirements do not have any annual nonhour cost burden

Total Annual Nonhour Burden Cost	Cost to Government (\$68.20/hour)
\$795,000	\$6,753.90
\$378,000	\$264,120.63
\$13,900	\$376,350.33
\$0	\$82,106.60
\$550,560	\$252,373.13
\$1,737,460.00	\$981,704.59

				Completion				Average			
	Number of Annual	Number of Responses per	Total Annual	Time/ Response	Annual Burden	Hourly Labor Rate (Incl.	\$ Value of Annual	Nonhour Burden Cost	Total Annual Nonhour Burden	Avg. Time (Hrs) per Response for Gov't	Cost to Government
Regulation/Activity	Respondents	Respondent	Responses	(Hours)	Hours*	Benefits)	Burden Hours	(per Response)	Cost	Review	(\$71.85/hour)
Application - Eagle Incidental Take -	General (Form 3	3-200-71) 50 CF	R 22.250 (M	ODIFIED)							
Individuals - Reporting	3	1	3	5.00	15	\$43.93	\$658.95	\$3,500	\$10,50	\$1,000 permit fee -	+ \$2,500 admin fee
Individuals - Recordkeeping	· ·	-	J	1.00	3	43.93	131.79	40,000	410,00		
Private Sector - Reporting	14	1	14	18.00	252	94.58	23,834.16	11,000	154,00	\$1,000 permit fee -	+ \$10,000 admin fee
Private Sector - Recordkeeping		-		2.00	28	94.58	2,648.24	11,000	20 1,00		
Government - Reporting	3	1	3	18.00	54	59.90	3,234.60	10,000	30,00	\$10,000 admin fee	s only
Government - Recordkeeping		-		2.00	6	59.90_	359.40	10,000			
Subtota		1/= 0.00	20	00.050 (110)	358		\$30,867.14		\$194,50	0 1	\$1,437.00
(ePermits) Application - Eagle Incide	ental Take - Gene	eral (Form 3-200)-71) 50 CFR	•		*	** ***				40-00-0
Individuals - Reporting	7	1	7	4.00	28	\$43.93	\$1,230.04	\$3,500	\$24,50	0 \$1,000 permit fee -	+ \$2,500 admin fee
Individuals - Recordkeeping				1.00	7	43.93	307.51				
Private Sector - Reporting	44	1	44	16.00	704	94.58	66,584.32	11,000	484,00	\$1,000 permit fee -	+ \$10,000 admin fee
Private Sector - Recordkeeping				2.00	88	94.58	8,323.04				
Government - Reporting	7	1	7	16.00	112	59.90	6,708.80	10,000	70,00	\$10,000 admin fee	s only
Government - Recordkeeping		_		2.00	14	59.90_	838.60	.,			40.00
Subtota		00 74) FO CED 4	58	ODIEIED)	953		\$83,992.31		\$578,50	0 0	\$0.00
Transfer - Eagle Incidental Take - Ge	enerai (Form 3-20	JU-71) 50 CFR 9	subpart E <i>(M</i>	•	10	#40.00	Φ 7 00 7 4				
Individuals - Reporting	1	1	1	18.00	18	\$43.93	\$790.74	\$1,000	\$1,00	0	
Individuals - Recordkeeping				2.00	2	43.93	87.86				
Private Sector - Reporting	1	1	1	18.00	18	94.58	1,702.44	1,000	1,00	0	
Private Sector - Recordkeeping				2.00	2	94.58	189.16				
Government - Reporting	1	1	1	18.00	18	59.90	1,078.20	0		0	
Government - Recordkeeping Subtota	al 3	-	3	2.00	60	59.90_	119.80 \$3,968.20		\$2,00	<u>0</u> 3	\$646.65
(ePermits) Transfer - Eagle Incidenta		(Earm 3-200-71	_	hnart F (MOI			\$3,900.20		Φ2,000	<u> </u>	Φ040.03
Individuals - Reporting	ar rake - General	(1 01111 0 200 7 2	ey so or it su	14.00	14	\$43.93	\$615.02				
Individuals - Recordkeeping	1	1	1	2.00	2	43.93	87.86	\$1,000	\$1,00	0	
Private Sector - Reporting				14.00	14	94.58	1,324.12				
Private Sector - Recordkeeping	1	1	1	2.00	2	94.58	189.16	1,000	1,00	0	
Government - Reporting				14.00	14	59.90	838.60				
Government - Recordkeeping	1	1	1	2.00	2	59.90	119.80	0		0	
Subtote	al 3	-	3	2.00	48		\$3,174.56		\$2,00	0 2	\$431.10
Application - Eagle Nest Take - Gene		72) 50 CFR 22.	_	ED)			Ψ0,27 7.00		<i>\$2,00</i>	_	Ψ.02.20
Individuals - Reporting	•	•	· ·	14.00	28	\$43.93	\$1,230.04				
Individuals - Recordkeeping	2	1	2	2.00	4	43.93	175.72	\$100	\$20	0	
Private Sector - Reporting	_	_	_	14.00	70	94.58	6,620.60				
Private Sector - Recordkeeping	5	1	5	2.00	10	94.58	945.80	100	50	0	
Government - Reporting		_		14.00	28	59.90	1,677.20	_			
Government - Recordkeeping	2	1	2	2.00	4	59.90	239.60	0	1	0	
Subtota	al 9	_	9		144	- · · · · -	\$10,888.96		\$70	<u>0</u> 1	\$646.65
(ePermits) Application - Eagle Nest		orm 3-200-72)	50 CFR 22.30	0 (MODIFIEL							
Individuals - Reporting	3	1	3	13.00	39	\$43.93	\$1,713.27	¢100	#20	0	
Individuals - Recordkeeping	3	1	3	2.00	6	43.93	263.58	\$100	\$30	O .	
Private Sector - Reporting	10	1	10	13.00	247	94.58	23,361.26	100	1.00	0	
Private Sector - Recordkeeping	19	1	19	2.00	38	94.58	3,594.04	100	1,90	U	
Government - Reporting	2	1	2	13.00	39	59.90	2,336.10			0	
Government - Recordkeeping	3	1	3	2.00	6	59.90	359.40			U	
Subtota	al 25		25		375		\$31,627.65		\$2,20	0	\$0.00
Transfer - Eagle Nest Take - General	l (Form 3-200-72)	50 CFR subpa	rt E <i>(NEW)</i>								
Individuals - Reporting	1	1	1	18.00	18	\$43.93	\$790.74	\$1,000	\$1,00	0	
Individuals - Recordkeeping	-	-		2.00	2	43.93	87.86	Ψ1,000	Ψ±,000		

Britanta Contra Britantina				10.00	10	04.50	1 700 11	_			
Private Sector - Reporting	1	1	1	18.00	18	94.58	1,702.44	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	94.58	189.16				
Government - Reporting	1	1	1	18.00	18	59.90	1,078.20	0	0		
Government - Recordkeeping				2.00	2	59.90	119.80		#0.000		40.40.05
Subtotal	3	2 200 72) 50	GED authorise	E (NELA)	60		\$3,968.20	_	\$2,000	3	\$646.65
(ePermits) Transfer - Eagle Nest Take	- General (Form	3-200-72) 50	CFR subpart		1.4	#40.00	#C4E 00				
Individuals - Reporting	1	1	1	14.00	14	\$43.93	\$615.02	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	43.93	87.86				
Private Sector - Reporting	1	1	1	14.00	14	94.58	1,324.12	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	94.58	189.16				
Government - Reporting	1	1	1	14.00	14	59.90	838.60	0	0		
Government - Recordkeeping				2.00	2	59.90	119.80		42.22		
Subtotal	3	0.000.04\ 50	3	(21514)	48		\$3,174.56		\$2,000	2	\$431.10
Application - Eagle Disturbance Take -	General (Form	3-200-91) 50	CFR 22.280	•				_			
Individuals - Reporting	3	1	3	5.00	15	\$43.93	\$658.95	\$100	\$300		
Individuals - Recordkeeping				1.00	3	43.93	131.79				
Private Sector - Reporting	14	1	14	18.00	252	94.58	23,834.16	100	1,400		
Private Sector - Recordkeeping		_		2.00	28	94.58	2,648.24		_,		
Government - Reporting	3	1	3	18.00	54	59.90	3,234.60	0	0		
Government - Recordkeeping		_		2.00	6	59.90	359.40				
Subtotal	20		20		358		\$30,867.14		\$1,700	1	\$1,437.00
(ePermits) Application - Eagle Disturba	ance Take - Gen	eral (Form 3-	200-91) 50 CI								
Individuals - Reporting	8	1	8	4.00	32	\$43.93	\$1,405.76	\$100	\$800		
Individuals - Recordkeeping				1.00	8	43.93	351.44		,		
Private Sector - Reporting	46	1	46	16.00	736	94.58	69,610.88	100	4,600		
Private Sector - Recordkeeping				2.00	92	94.58	8,701.36		.,		
Government - Reporting	8	1	8	16.00	128	59.90	7,667.20	0	0		
Government - Recordkeeping		-		2.00	16	59.90	958.40				
Subtotal	62		62		1,012		\$88,695.04		\$5,400	0	\$0.00
Transfer - Eagle Disturbance Take - Ge	eneral (Form 3-2	00-91) 50 CF	R subpart E	-				_			
Individuals - Reporting	1	1	1	18.00	18	\$43.93	\$790.74	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	43.93	87.86	,			
Private Sector - Reporting	1	1	1	18.00	18	94.58	1,702.44	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	94.58	189.16	,	,		
Government - Reporting	1	1	1	18.00	18	59.90	1,078.20	0	0		
Government - Recordkeeping		_		2.00	2	59.90	119.80				
Subtotal	3		3		60		\$3,968.20		\$2,000	3	\$646.65
(ePermits) Transfer - Eagle Disturbanc	e Take - Genera	il (Form 3-200	-91) 50 CFR	•	•						
Individuals - Reporting	1	1	1	14.00	14	\$43.93	\$615.02	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	43.93	87.86	,			
Private Sector - Reporting	1	1	1	14.00	14	94.58	1,324.12	1,000	1,000		
Private Sector - Recordkeeping	_		_	2.00	2	94.58	189.16	_,000	2,000		
Government - Reporting	1	1	1	14.00	14	59.90	838.60	0	0		
Government - Recordkeeping		-		2.00	2	59.90	119.80				
Subtotal	3		3		48		\$3,174.56		\$2,000	2	\$431.10
Grand Total	212		212		3,524		\$298,366.52		\$795,000		\$6,753.90

Grand Total
* Rounded to match ROCIS

Cost Calculation Legend (From question 12 in SSA) #1 - Standard BLS Rates #3 - Average specialized NAICS hourly rate)

	Number of	Number of		Completion Time/	Annual	Hourly Labor		Average Nonhour	Total Annual	Avg. Time (Hrs) per Response	
Regulation/Activity	Annual Respondents	Responses per Respondent	Total Annual Responses	Response (Hours)	Burden Hours*	Rate (Incl. Benefits)	\$ Value of Annual Burden Hours	Burden Cost (per Response)	Nonhour Burden Cost	for Gov't Review	Cost to Government (\$71.85/hour)
Application - Eagle Incidental Take -					Hours	Belletits)	Buruch Hours	(per response)	Cost	Review	(\$12.03/11041)
Individuals - Reporting	1	1	1	160.00	160	\$43.93	\$7,028.80	#2C 000	ቀ ንር 000		
Individuals - Recordkeeping	1	1	1	40.00	40	43.93	1,757.20	\$36,000	\$36,000	,	
Private Sector - Reporting	2	4	0	160.00	480	94.58	45,398.40	20,000	100.000		
Private Sector - Recordkeeping	3	1	3	40.00	120	94.58	11,349.60	36,000	108,000	,	
Government - Reporting	4	4	4	160.00	160	59.90	9,584.00	10.000	10.000	*Admin fee only	
Government - Recordkeeping	1	1	1	40.00	40	59.90	2,396.00	10,000	10,000)	
Subtota		_	5		1,000		\$77,514.00		\$154,000	275	\$98,793.75
(ePermits) Application - Eagle Incide	ntal Take - Spec	cific (Form 3-20	0-71) 50 CFR	22.250 (MOI	DIFIED)						
Individuals - Reporting	1	1	1	140.00	140	\$43.93	\$6,150.20	\$36,000	\$36,000)	
Individuals - Recordkeeping	-	_	_	40.00	40	43.93	1,757.20	400,000	400,000		
Private Sector - Reporting	3	1	3	140.00	420	94.58	39,723.60	36,000	108,000)	
Private Sector - Recordkeeping	· ·	_		40.00	120	94.58	11,349.60	20,000	200,000		
Government - Reporting	1	1	1	140.00	140	59.90	8,386.00	10,000	10,000	*Admin fee only	
Government - Recordkeeping		_		40.00	40	59.90_	2,396.00	20,000			
Subtota		0.000 74) 50.0	5	100 (FIED)	900		\$69,762.60		\$154,000	210	\$75,442.50
Amendment - Eagle Incidental Take	- Specific (Form	3-200-71) 50 C	FR 22.250 (N		05	#40.00	#4 F07 FF				
Individuals - Reporting	1	1	1	35.00	35	\$43.93	\$1,537.55	\$500	\$500)	
Individuals - Recordkeeping				5.00	5	43.93	219.65				
Private Sector - Reporting	1	1	1	35.00	35	94.58	3,310.30	500	500)	
Private Sector - Recordkeeping				5.00	5	94.58	472.90				
Government - Reporting	1	1	1	35.00	35	59.90	2,096.50	0	C)	
Government - Recordkeeping Subtota	a/ 3	_	3	5.00	5 120	59.90_	299.50 \$7,936.40		\$1,000	8	\$1,724.40
(ePermits) Amendment - Eagle Incide		cific (Form 3-20		R 22.250 (MO			\$7,930.40		Φ1,000	0	Φ1,724.40
Individuals - Reporting				33.00	33	\$43.93	\$1,449.69				
Individuals - Recordkeeping	1	1	1	5.00	5	43.93	219.65	\$500	\$500)	
Private Sector - Reporting				33.00	33	94.58	3,121.14				
Private Sector - Recordkeeping	1	1	1	5.00	5	94.58	472.90	500	500)	
Government - Reporting				33.00	33	59.90	1,976.70				
Government - Recordkeeping	1	1	1	5.00	5	59.90	299.50	0	C)	
Subtota	al 3	_	3	0.00	114	_	\$7,539.58		\$1,000	7.5	\$1,616.63
Transfer - Eagle Incidental Take - Sp	ecific (Form 3-2	00-71) 50 CFR s	ubpart E <i>(M</i>	ODIFIED)					. ,		
Individuals - Reporting	1	1	1	18.00	18	\$43.93	\$790.74	ф1 000	¢1 000		
Individuals - Recordkeeping	1	1	1	2.00	2	43.93	87.86	\$1,000	\$1,000	,	
Private Sector - Reporting	1	1	1	18.00	18	94.58	1,702.44	1,000	1 000		
Private Sector - Recordkeeping	1	1	1	2.00	2	94.58	189.16	1,000	1,000	,	
Government - Reporting	1	1	1	18.00	18	59.90	1,078.20	0			
Government - Recordkeeping	1	_	1	2.00	2	59.90_	119.80	U		<u>'</u>	
Subtota			3		60		\$3,968.20		\$2,000	10	\$2,155.50
(ePermits) Transfer - Eagle Incidenta	ıl Take - Specific	(Form 3-200-7	1) 50 CFR su								
Individuals - Reporting	1	1	1	14.00	14	\$43.93	\$615.02	\$1,000	\$1,000)	
Individuals - Recordkeeping				2.00	2	43.93	87.86				
Private Sector - Reporting	1	1	1	14.00	14	94.58	1,324.12	1.000	1,000)	
Private Sector - Recordkeeping	<u>-</u>			2.00	2	94.58	189.16				
Government - Reporting	1	1	1	14.00	14	59.90	838.60	()	()	
Government - Recordkeeping		-		2.00	2	59.90_	119.80		40.000	0.5	#0.047.T0
Subtota Application Fagle Next Take Spec		72) E0 CED 33	300 (MODIE	IED)	48		\$3,174.56		\$2,000	9.5	\$2,047.73
Application - Eagle Nest Take - Spec Individuals - Reporting	me (FOIM 3-200	-12) 30 CFR 22	.SUU (MUDIF		35	\$43.93	\$1,537.55				
maividuais - Neporting	1	1	1	35.00	30	Φ43.93	φ1,001.55	\$ E00	\$ E00	·	

				_					~~~		
Individuals - Recordkeeping	1	Т	1	5.00	5	43.93	219.65	ΦΌΟΟ	φουσ		
Private Sector - Reporting	3	1	3	35.00	105	94.58	9,930.90	5,000	15,000		
Private Sector - Recordkeeping	3	_	3	5.00	15	94.58	1,418.70	3,000	13,000		
Government - Reporting	1	1	1	35.00	35	59.90	2,096.50	0	0		
Government - Recordkeeping		<u>.</u>		5.00	5	59.90	299.50	0	0		
Subtotal	5		5		200		\$15,502.80		\$15,500	40	\$14,370.00
(ePermits) Application - Eagle Nest Take	- Specific (F	orm 3-200-72)	50 CFR 22.3	00 (MODIFIE	ED)						
Individuals - Reporting	1	1	1	33.00	33	\$43.93	\$1,449.69	\$500	\$500		
Individuals - Recordkeeping	_	-	_	5.00	5	43.93	219.65	4555	4555		
Private Sector - Reporting	3	1	3	33.00	99	94.58	9,363.42	5,000	15,000		
Private Sector - Recordkeeping	Ü	-	Ü	5.00	15	94.58	1,418.70	0,000	10,000		
Government - Reporting	1	1	1	33.00	33	59.90	1,976.70	0	0		
Government - Recordkeeping				5.00	5	59.90	299.50	<u> </u>	ŭ		
Subtotal	5		5		190		\$14,727.66		\$15,500	38	\$13,651.50
Amendment - Eagle Nest Take - Specific	(Form 3-200	1-72) 50 CFR 22	2.300 (MODI					_			
Individuals - Reporting	1	1	1	17.00	17	\$43.93	\$746.81	\$500	\$500		
Individuals - Recordkeeping				3.00	3	43.93	131.79				
Private Sector - Reporting	1	1	1	17.00	17	94.58	1,607.86	500	500		
Private Sector - Recordkeeping				3.00	3	94.58	283.74				
Government - Reporting	1	1	1	17.00	17	59.90	1,018.30	0	0		
Government - Recordkeeping				3.00	3	59.90	179.70				
Subtotal	3	= 0.000.70\	3		60		\$3,968.20		\$1,000	8	\$1,724.40
(ePermits) Amendment - Eagle Nest Take	e - Specific (Form 3-200-72)	50 CFR 22.			* 40.00	+== + 00				
Individuals - Reporting	1	1	1	13.00	13	\$43.93	\$571.09	\$500	\$500		
Individuals - Recordkeeping				3.00	3	43.93	131.79				
Private Sector - Reporting	1	1	1	13.00	13	94.58	1,229.54	500	500		
Private Sector - Recordkeeping				3.00	3	94.58	283.74				
Government - Reporting	1	1	1	13.00	13	59.90	778.70	0	0		
Government - Recordkeeping	3		3	3.00	3 48	59.90	179.70		\$1,000	7.5	¢1 C1C C2
Subtotal Transfer - Eagle Nest Take - Specific (Fo	~	50 CED cubns	~		40		\$3,174.56	_	\$1,000	7.5	\$1,616.63
Individuals - Reporting	1111 3-200-72)	30 CFR Subpa	ut = (/V=VV)	18.00	18	\$43.93	\$790.74	_			
Individuals - Recordkeeping	1	1	1	2.00	2	43.93	87.86	\$1,000	\$1,000		
Private Sector - Reporting				18.00	18	94.58	1,702.44				
Private Sector - Reporting Private Sector - Recordkeeping	1	1	1	2.00	2	94.58	1,702.44	1,000	1,000		
Government - Reporting				18.00	18	59.90	1,078.20				
Government - Recordkeeping	1	1	1	2.00	2	59.90 59.90	119.80	0	0		
Subtotal	3	-	3	2.00	60	. 59.90	\$3,968.20		\$2,000	10	\$2,155.50
(ePermits) Transfer - Eagle Nest Take - S	_	m 3-200-72) 50		t E <i>(NEW</i>)	00		φ0,300.20	_	Ψ2,000	10	Ψ2,100.00
Individuals - Reporting				14.00	14	\$43.93	\$615.02				
Individuals - Recordkeeping	1	1	1	2.00	2	43.93	87.86	\$1,000	\$1,000		
Private Sector - Reporting				14.00	14	94.58	1,324.12				
Private Sector - Recordkeeping	1	1	1	2.00	2	94.58	189.16	1,000	1,000		
Government - Reporting				14.00	14	59.90	838.60				
Government - Recordkeeping	1	1	1	2.00	2	59.90	119.80	0	0		
Subtotal	3	-	3		48		\$3,174.56		\$2,000	9.5	\$2,047.73
Application - Eagle Disturbance Take - S	pecific (Forr	n 3-200-91) 50	CFR 22.280	(NEW)							
Individuals - Reporting				160.00	160	\$43.93	\$7,028.80	φ <u>Γ</u> ΩΩ	\$ 500		
Individuals - Recordkeeping	1	1	1	40.00	40	43.93	1,757.20	\$500	\$500		
Private Sector - Reporting	4	<u> </u>		160.00	640	94.58	60,531.20	0.500	40.000		
Private Sector - Recordkeeping	4	1	4	40.00	160	94.58	15,132.80	2,500	10,000		
Government - Reporting	0	<i>A</i>	_	160.00	320	59.90	19,168.00				
Government - Recordkeeping	2	1	2	40.00	80	59.90	4,792.00	U	0		
Subtotal	7	-	7		1,400		\$108,410.00		\$10,500	40	\$20,118.00
(ePermits) Application - Eagle Disturban	ce Take - Sp	ecific (Form 3-2	200-91) <mark>50 C</mark>	FR 22.280 (A	IEW)						

Individuals - Reporting Individuals - Recordkeeping	1	1	1	140.00 40.00	140 40	\$43.93 43.93	\$6,150.20 1,757.20	\$500	\$500		
Private Sector - Reporting				140.00	560	94.58	52,964.80				
Private Sector - Recordkeeping	4	1	4	40.00	160	94.58	15,132.80	2,500	10,000		
Government - Reporting	•			140.00	280	59.90	16,772.00				
Government - Recordkeeping	2	1	2	40.00	80	59.90	4,792.00	0	0		
Subtotal		•	7		1,260		\$97,569.00		\$10,500	38	\$19,112.10
Amendment - Eagle Disturbance Take	- Specific (For	m 3-200-91) <mark>5</mark> 0	CFR 22.280	(NEW)							
Individuals - Reporting	1	1	1	35.00	35	\$43.93	\$1,537.55	\$500	\$500		
Individuals - Recordkeeping	-	-	-	5.00	5	43.93	219.65	Ψ300	Ψοσο		
Private Sector - Reporting	1	1	1	35.00	35	94.58	3,310.30	500	500		
Private Sector - Recordkeeping	-	-	-	5.00	5	94.58	472.90	300	300		
Government - Reporting	1	1	1	35.00	35	59.90	2,096.50	0	0		
Government - Recordkeeping				5.00	5	59.90	299.50				
Subtotal			3		120		\$7,936.40		\$1,000	8	\$1,724.40
(ePermits) Amendment - Eagle Distur	bance Take - Sp	pecific (Form 3	-200-91) 50 C								
Individuals - Reporting	1	1	1	33.00	33	\$43.93	\$1,449.69	\$500	\$500		
Individuals - Recordkeeping				5.00	5	43.93	219.65	, , , , ,			
Private Sector - Reporting	1	1	1	33.00	33	94.58	3,121.14	500	500		
Private Sector - Recordkeeping	_	-	_	5.00	5	94.58	472.90	555			
Government - Reporting	1	1	1	33.00	33	59.90	1,976.70	0	0		
Government - Recordkeeping				5.00	5	59.90	299.50				
Subtotal		000 04) 50 05	3	-1 a c\	114		\$7,539.58	_	\$1,000	7.5	\$1,616.63
Transfer - Eagle Disturbance Take - Sp	pecific (Form 3	-200-91) 50 CF	R 22.280 (NE		10	#42.02	Φ 7 00 7 4	_			
Individuals - Reporting	1	1	1	18.00	18	\$43.93	\$790.74	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	43.93	87.86				
Private Sector - Reporting	1	1	1	18.00	18	94.58	1,702.44	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	94.58	189.16				
Government - Reporting	1	1	1	18.00	18	59.90	1,078.20	0	0		
Government - Recordkeeping Subtotal	3		3	2.00	60	59.90	119.80 \$3,968.20	_	\$2,000	10	\$2,155.50
(ePermits) Transfer - Eagle Disturband		fic (Form 3-200	· ·	22 280 (NEW			\$3,908.20	_	\$2,000	10	\$2,155.50
Individuals - Reporting	ce rake - Opeor	110 (1 01111 0 200	31) 30 OI IC	14.00	14	\$43.93	\$615.02				
Individuals - Recordkeeping	1	1	1	2.00	2	43.93	87.86	\$1,000	\$1,000		
Private Sector - Reporting				14.00	14	94.58	1,324.12				
Private Sector - Recordkeeping	1	1	1	2.00	2	94.58	189.16	1,000	1,000		
Government - Reporting				14.00	14	59.90	838.60				
Government - Recordkeeping	1	1	1	2.00	2	59.90	119.80	0	0		
Subtotal	3		3	2.00	48	39.90	\$3.174.56		\$2,000	9.5	\$2.047.73
Grand Total	70		70		5,850		\$443,009.06		\$378,000		\$264,120.63

* Rounded to match ROCIS

Cost Calculation Legend (From question 12 in SSA) #1 - Standard BLS Rates

Regulation/Activity Application - Eagle Exhibition Permit (Number of Annual Respondents Form 3-200-14	Number of Responses per Respondent	Total Annual Responses	Completion Time/ Response (Hours)	Annual Burden Hours*	Hourly Labor Rate (Incl. Benefits)	\$ Value of Annual Burden Hours	Average Nonhour Burden Cost (per Response)	Total Annual Nonhour Burden Cost	Avg. Time (Hrs) per Response for Gov't Review	Cost to Government (\$71.85/hour)
Individuals - Reporting	_			5.00	0	\$43.93	\$0.00				
Individuals - Recordkeeping	0	1	0	0.50	0	43.93	0.00	\$75	\$0		
Private Sector - Reporting				5.00	75	41.53	3,114.75				
Private Sector - Recordkeeping	15	1	15	0.50	8	41.53	332.24	75	1,125		
Government - Reporting				5.00	25	59.90	1,497.50				
Government - Recordkeeping	5	1	5	0.50	3	59.90	179.70	0	0		
Subtotal	20	-	20	0.50	111	33.30_	\$5,124.19		\$1,125	4	\$5,748.00
(ePermits) Application - Eagle Exhibition		rm 3-200-14) 50					40,1220			·	φο,. τοισσ
Individuals - Reporting	-			4.50	0	\$43.93	\$0.00				
Individuals - Recordkeeping	0	1	0	0.50	0	43.93	0.00	\$75	\$0		
Private Sector - Reporting				4.50	338	40.79	13,787.02				
Private Sector - Recordkeeping	75	1	75	0.50	37	40.79	1,509.23	75	5,625		
Government - Reporting				4.50	113	59.90	6,768.70				
	25	1	25	0.50	12			0	0		
Government - Recordkeeping Subtotal	100	-	100	0.50	500	59.90_	718.80 \$22,783.75		\$5,625	3.5	\$25,147.50
Amendment - Eagle Exhibition Permit		4) 50 CEP 22 (500		φ22,763.73		φ5,025	3.5	φ25,147.50
Individuals - Reporting	(1 01111 3-200-1-	4) 30 CH R 22 (VEVV)	2.50	0	\$43.93	\$0.00				
Individuals - Reporting	0	1	0	0.25	0	43.93	0.00	\$0	\$0		
. •											
Private Sector - Reporting	1	1	1	2.50	3	41.53	124.59	0	0		
Private Sector - Recordkeeping				0.25	0	41.53	0.00				
Government - Reporting	1	1	1	2.50	3	59.90	179.70	0	0		
Government - Recordkeeping		-		0.25	0	59.90_	0.00				4574.00
Subtotal (ePermits) Amendment - Eagle Exhibit	2 ion Dormit (Eo	rm 2 200 14) E	2 0 CED 22 (M	=147)	6		\$304.29		\$0	4	\$574.80
	ion Periiit (Fo	1111 3-200-14) 5	UCFR ZZ (NE	_	0	\$43.93	ተ0 00				
Individuals - Reporting	0	1	0	2.25 0.25	0	Ф43.93 43.93	\$0.00 0.00	\$0	\$0		
Individuals - Recordkeeping					0						
Private Sector - Reporting	1	1	1	2.25	3	40.79	122.37	0	0		
Private Sector - Recordkeeping				0.25	0	40.79	0.00				
Government - Reporting	1	1	1	2.25	3	59.90	179.70	0	0		
Government - Recordkeeping		-		0.25	0	59.90_	0.00		*	0.5	4500.05
Subtotal Subtotal Subtraction and Subtraction	2	- A	2	· · · (F · ···· 0 0	6	OED 00	\$302.07		\$0	3.5	\$502.95
Permit Application and Order - Eagle P	arts for Native	e American Rei	igious Purpos	-			#70.074.00				
Individuals - Reporting	1,200	1	1,200	1.50	1,800	\$43.93	\$79,074.00	\$0	\$0		
Individuals - Recordkeeping				0.50	600	43.93	26,358.00				
Private Sector - Reporting	0	1	0	1.50	0	41.53	0.00	0	0		
Private Sector - Recordkeeping				0.50	0	41.53	0.00				
Government - Reporting	0	1	0	1.50	0	59.90	0.00	0	0		
Government - Recordkeeping		-		0.50	0	59.90_	0.00	Ĭ.			
Subtotal	1,200		1,200	_	2,400		\$105,432.00		\$0	2	\$172,440.00
(ePermits) Permit Application and Orde	er - Eagle Part	s for Native Am	nerican Religi	-	-	-					
Individuals - Reporting	1,200	1	1,200	0.60	720	\$43.93	\$31,629.60	\$0	\$0		
Individuals - Recordkeeping	,			0.20	240	43.93	10,543.20				
Private Sector - Reporting	0	1	0	0.60	0	40.79	0.00	0	0		
Private Sector - Recordkeeping		-		0.20	0	40.79	0.00	- J			
Government - Reporting	0	1	0	0.60	0	59.90	0.00	0	0		
Government - Recordkeeping				0.20	0	59.90_	0.00	0	0		
Subtotal	1,200		1,200		960		\$42,172.80		\$0	1.5	\$129,330.00
Amendment - Eagle Parts for Native Ar	merican Religi	ous Purposes -	Permit Appli		rder (Form		•				
Individuals - Reporting				0.50	1	\$43.93	\$43.93				

								70.1	NI		
Individuals - Recordkeeping	1	1	_	0.25	0	43.93	0.00	ΦО	ΨΟ		
Private Sector - Reporting	0	1	0	0.50	0	41.53	0.00	0	0		
Private Sector - Recordkeeping	O	_	O	0.25	0	41.53	0.00	J	O		
Government - Reporting	0	1	0	0.50	0	59.90	0.00	0	0		
Government - Recordkeeping			0	0.25	0	59.90	0.00		0		
Subtotal	1		1		1		\$43.93		\$0	4	\$287.40
(ePermits) Amendment - Eagle Parts fo	or Native Ame	rican Religious	Purposes - F	Permit Applica	ation and Or	der (Form 3-200-1		_			
Individuals - Reporting	1	1	1	0.33	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	_	-	_	0.10	0	43.93	0.00	4.0	40		
Private Sector - Reporting	0	1	0	0.33	0	40.79	0.00	0	0		
Private Sector - Recordkeeping	Ü	-	Ü	0.10	0	40.79	0.00	ŭ	· ·		
Government - Reporting	0	1	0	0.33	0	59.90	0.00	0	0		
Government - Recordkeeping				0.10	0	59.90	0.00	_			
Subtotal	1		1		0		\$0.00		\$0	3.5	\$251.48
Application - Take of Depredating Eag	les and Eagles	that Pose a Ri	sk to Human					_			
Individuals - Reporting	0	1	0	3.00	0	\$43.93	\$0.00	\$100	\$0		
Individuals - Recordkeeping				0.50	0	43.93	0.00				
Private Sector - Reporting	10	1	10	3.00	30	41.53	1,245.90	100	1,000		
Private Sector - Recordkeeping				0.50	5	41.53	207.65		_,		
Government - Reporting	10	1	10	3.00	30	59.90	1,797.00	0	0		
Government - Recordkeeping				0.50	5	59.90	299.50				
Subtotal	20		20		70	(=)	\$3,550.05		\$1,000	4	\$5,748.00
Application - Take of Depredating Eag	les and Eagles	that Pose a Ri	sk to Human	_		•	-	ts)			
Individuals - Reporting	0	1	0	2.50	0	\$43.93	\$0.00	\$100	\$0		
Individuals - Recordkeeping				0.50	0	43.93	0.00				
Private Sector - Reporting	10	1	10	2.50	25	40.79	1,019.75	100	1,000		
Private Sector - Recordkeeping				0.50	5	40.79	203.95				
Government - Reporting	10	1	10	2.50	25	59.90	1,497.50	0	0		
Government - Recordkeeping		-		0.50	5	59.90	299.50	_	44.000	0.5	±= 000 =0
Subtotal	20	o that Dago a D	20	n or Foals Ho	60	v (Form 2 200 16)	\$3,020.70		\$1,000	3.5	\$5,029.50
Amendment - Take of Depredating Eag	jies and Eagle	s that Pose a R	isk to Humai					_			
Individuals - Reporting	0	1	0	1.00 0.25	0	\$43.93 43.93	\$0.00 0.00	\$0	\$0		
Individuals - Recordkeeping											
Private Sector - Reporting	1	1	1	1.00	1	41.53	41.53	0	0		
Private Sector - Recordkeeping				0.25	0	41.53	0.00				
Government - Reporting	1	1	1	1.00	1	59.90	59.90	0	0		
Government - Recordkeeping Subtotal	2	-	2	0.25	<u>0</u> 2	59.90	0.00 \$101.43	_	\$0	4	\$574.80
Amendment - Take of Depredating Eag	_	s that Pose a R	_	n or Fagle He	_	v (Form 3-200-16)		its) (NFW)	Φυ	4	\$374.60
Individuals - Reporting	neo ana Lagie	5 tilut 1 000 ti 11	ion to mama	0.75	0	\$43.93	\$0.00	10) (11211)			
Individuals - Recordkeeping	0	1	0	0.25	0	43.93	0.00	\$0	\$0		
Private Sector - Reporting				0.25	1	40.79	40.79				
Private Sector - Recordkeeping	1	1	1	0.25	0	40.79	0.00	0	0		
Government - Reporting				0.75	1	59.90	59.90				
Government - Recordkeeping	1	1	1	0.75	0	59.90	0.00	0	0		
Subtotal	2	-	2	0.23	2	33.30	\$100.69	_	\$0	3.5	\$502.95
Application - Take of Golden Eagle Ne		source Develop	_	overy (Form 3	_	CFR 22	Ψ100.00	_	ΨΟ	0.0	φουΣ.σο
Individuals - Reporting				9.00	0	\$43.93	\$0.00				
Individuals - Recordkeeping	0	1	0	1.00	0	43.93	0.00	\$100	\$0		
Private Sector - Reporting				9.00	18	41.53	747.54				
Private Sector - Recordkeeping	2	1	2	1.00	2	41.53	83.06	100	200		
Government - Reporting				9.00	9	59.90	539.10				
Government - Recordkeeping	1	1	1	1.00	1	59.90	59.90	0	0		
Subtotal	3	-	3		30		\$1,429.60		\$200	20	\$4,311.00
Application - Take of Golden Eagle Ne		0-18) 50 CFR 2	2 (ePermits)								

Individuals - Reporting	0	1	0	7.00	0	\$43.93	\$0.00	\$100	\$0		
Individuals - Recordkeeping	U	1	U	1.00	0	43.93	0.00	\$100	ΦΟ		
Private Sector - Reporting	0	4	0	7.00	14	40.79	571.06	400	000		
Private Sector - Recordkeeping	2	1	2	1.00	2	40.79	81.58	100	200		
Government - Reporting				7.00	7	59.90	419.30				
Government - Recordkeeping	1	1	1	1.00	1	59.90	59.90	0	0		
Subtot	al 3		3	. 2.00	24		\$1,131.84		\$200	19.5	\$4,203.23
Amendment - Take of Golden Eagle	Nests (Form 3-20	0-18) 50 CFR	22 (NEW)								
Individuals - Reporting	•	4	•	5.00	0	\$43.93	\$0.00	\$50	40		
Individuals - Recordkeeping	0	1	0	0.50	0	43.93	0.00	\$50	\$0		
Private Sector - Reporting				5.00	5	41.53	207.65		=-		
Private Sector - Recordkeeping	1	1	1	0.50	1	41.53	41.53	50	50		
Government - Reporting				5.00	5	59.90	299.50				
Government - Recordkeeping	1	1	1	0.50	1	59.90	59.90	0	0		
Subtot	al 2		2	. 0.00	12		\$608.58		\$50	4	\$574.80
(ePermits) Amendment - Take of Go		(Form 3-200-1	.8) 50 CFR 22	(NEW)			, , , , , ,				, .
Individuals - Reporting				4.50	0	\$43.93	\$0.00				
Individuals - Recordkeeping	0	1	0	0.50	0	43.93	0.00	\$50	\$0		
Private Sector - Reporting				4.50	5	40.79	203.95				
Private Sector - Recordkeeping	1	1	1	0.50	0	40.79	0.00	50	50		
Government - Reporting				4.50	5	59.90	299.50				
Government - Recordkeeping	1	1	1	0.50	0	59.90	0.00	0	0		
Subtot	al 2		2	. 0.00	10		\$503.45		\$50	3.5	\$502.95
Application - Native American Eagle	Take (Form 3-20	0-77) 50 CFR	22								
Individuals - Reporting		_		8.00	0	\$43.93	\$0.00	40	4.0		
Individuals - Recordkeeping	0	1	0	2.00	0	43.93	0.00	\$0	\$0		
Private Sector - Reporting				8.00	0	94.58	0.00				
Private Sector - Recordkeeping	0	1	0	2.00	0	94.58	0.00	0	0		
Government - Reporting	_	_		8.00	16	59.90	958.40				
Government - Recordkeeping	2	1	2	2.00	4	59.90	239.60	0	0		
Subtot	al 2		2		20		\$1,198.00		\$0	20	\$2,874.00
(ePermits) Application - Native Ame	rican Eagle Take	(Form 3-200-7	7) 50 CFR 22								
Individuals - Reporting	0	4	0	7.00	0	\$43.93	\$0.00	40	Φ0		
Individuals - Recordkeeping	0	1	0	2.00	0	43.93	0.00	\$0	\$0		
Private Sector - Reporting				7.00	0	94.58	0.00				
Private Sector - Recordkeeping	0	1	0	2.00	0	94.58	0.00	0	0		
Government - Reporting				7.00	14	59.90	838.60				
Government - Recordkeeping	2	1	2	2.00	4	59.90	239.60	0	0		
Subtot	al 2		2		18		\$1,078.20		\$0	19.5	\$2,802.15
Amendment - Native American Eagl	e Take (Form 3-20	00-77) 50 CFR	22 (NEW)								
Individuals - Reporting	0	1	0	5.00	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.50	0	43.93	0.00	ΦΟ	ΦΟ		
Private Sector - Reporting	0	1	0	5.00	0	41.53	0.00	0	0		
Private Sector - Recordkeeping	0	1	0	0.50	0	41.53	0.00	0	U		
Government - Reporting	1	1	1	5.00	5	59.90	299.50	0	0		
Government - Recordkeeping	1	1	1	0.50	1	59.90	59.90	U	U		
Subtot	al 1		1		6		\$359.40		\$0	4	\$287.40
Amendment - Native American Eagl	e Take (Form 3-20	00-77) 50 CFR	22 (ePermits) (NEW)							
Individuals - Reporting	0	1	0	4.50	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.50	0	43.93	0.00	Φ0	Ψ		
Private Sector - Reporting	0	1	0	4.50	0	40.79	0.00	0	0		
Private Sector - Recordkeeping	U	1	0	0.50	0	40.79	0.00	U I	U		
Government - Reporting	1	1	1	4.50	5	59.90	299.50	0	0		
Government - Recordkeeping	1	1	1	0.50	0	59.90	0.00	U U	U		
Subtot	al 1		1		5		\$299.50		\$0	3.5	\$251.48

Application - Native American Eagle Aviar	v (Form 3-200-78) 50 CEI	R 22							
Individuals - Reporting	y (1 01111 3-200-70) 30 01 1		17.00	0	\$43.93	\$0.00			
Individuals - Recordkeeping	0 1	0	3.00	0	43.93	0.00	\$0	\$0	
Private Sector - Reporting			17.00	0	41.53	0.00			
Private Sector - Recordkeeping	0 1	0	3.00	0	41.53	0.00	0	0	
Government - Reporting			17.00	34	59.90	2,036.60			
Government - Recordkeeping	2 1	2	3.00	6	59.90 59.90	359.40	0	0	
Subtotal	2	2	3.00	40	59.90	\$2,396.00		\$0 12	\$1,724.40
Application - Native American Eagle Aviar			ts)			42,000.00	_	Ψ ⁰ 12	Ψ <u>1,</u> 12 11 10
Individuals - Reporting			16.00	0	\$43.93	\$0.00	40	40	
Individuals - Recordkeeping	0 1	0	3.00	0	43.93	0.00	\$0	\$0	
Private Sector - Reporting			16.00	0	40.79	0.00			
Private Sector - Recordkeeping	0 1	0	3.00	0	40.79	0.00	0	O	
Government - Reporting			16.00	48	59.90	2,875.20			
Government - Recordkeeping	3 1	3	3.00	9	59.90	539.10	0	О	
Subtotal	3	3	1	57		\$3,414.30		\$0 11.5	\$2,478.83
Amendment - Native American Eagle Avia	ry (Form 3-200-78) 50 CF	R 22 (NEW)							
Individuals - Reporting	0 1	0	5.00	0	\$43.93	\$0.00	\$0	\$0	
Individuals - Recordkeeping	0 1	U	0.50	0	43.93	0.00	ΦΟ	ΨΟ	
Private Sector - Reporting	0 1	0	5.00	0	41.53	0.00	0	0	
Private Sector - Recordkeeping	0 1	U	0.50	0	41.53	0.00	U	o o	
Government - Reporting	1 1	1	5.00	5	59.90	299.50	0	0	
Government - Recordkeeping		1	0.50	1	59.90	59.90	U	0	
Subtotal	1	1		6		\$359.40		\$0 4	\$287.40
Amendment - Native American Eagle Avia	ry (Form 3-200-78) 50 CF	R 22 (ePerm	its) (NEW)						
Individuals - Reporting	0 1	0	4.50	0	\$43.93	\$0.00	\$0	\$0	
Individuals - Recordkeeping	-		0.50	0	43.93	0.00	40	40	
Private Sector - Reporting	0 1	0	4.50	0	40.79	0.00	0	0	
Private Sector - Recordkeeping	-		0.50	0	40.79	0.00	, and the second		
Government - Reporting	1 1	1	4.50	5	59.90	299.50	0	0	
Government - Recordkeeping			0.50	0	59.90	0.00			
Subtotal	1	1		5		\$299.50		\$0 3.5	\$251.48
Application - Eagle Transport Permit (Forn		0	1.00	0	#42.02	Ф0.00	Ф7Г	ФО	
Individuals/Households Private Sector	0 1 1 1	0 1	1.00 1.00	0	\$43.93 41.53	\$0.00 41.53	\$75 75	\$0 75	
State/Local/Tribal	1 1	1	1.00	1	59.90	59.90	0	0	
Subtotal	2	2	1.00	2		\$101.43	Ğ	<u>\$75</u> 4	\$574.80
Application - Eagle Transport Permit (Forn	n 3-200-82) 50 CFR 22 (e	Permits)					_		,
Individuals/Households	0 1	0	0.75	0	\$43.93	\$0.00	\$75	\$0	
Private Sector	1 1	1	0.75	1	40.79	40.79	75	75	
State/Local/Tribal	11	1	0.75	1	59.90	59.90	0	0	
Subtotal	2	2		2		\$100.69		\$75 3.5	\$502.95
Amendment - Eagle Transport Permit (For	,						4-		
Individuals/Households	0 1	0	0.50	0	\$43.93	\$0.00	\$0 0	\$0	
Private Sector State/Local/Tribal	1 1	1 1	0.50	1	41.53	41.53 59.90	0	0	
State/Local/Tribal Subtotal	1 1	2	0.50	<u>1</u>	59.90	\$101.43	U	50 \$0	\$143.70
(ePermits) Amendment - Eagle Transport			EW)			Ψ±0±.40		Ψ0	Ψ143.70
Individuals/Households	0 1	0	0.33	0	\$43.93	\$0.00	\$0	\$0	
Private Sector	1 1	1	0.33	0	40.79	0.00	0	0	
State/Local/Tribal	1 1	1	0.33	0	59.90	0.00	0	0	
Subtotal	2	2		0		\$0.00		\$0 0.75	\$107.78
Application - Native American Eagle Take	(Form 3-1552) 50 CFR 22	2							
Individuals - Reporting	0 1	0	3.50	0	\$43.93	\$0.00	\$0	\$0	
Individuals - Recordkeeping	· ·	0	0.50	0	43.93	0.00	ΨΟ		
Private Sector - Reporting	0 1	0	3.50	0	41.53	0.00		0	

Private Sector - Recordkeeping	U	1	U	0.50	0	41.53	0.00	U	U		
Government - Reporting				3.50	70	59.90	4,193.00				
Government - Recordkeeping	20	1	20	0.50	10	59.90	599.00	0	0		
Subto	tal 20		20	0.00	80		\$4,792.00		\$0	2	\$2,874.00
Amendment - Native American Eag		52) <i>(NEW)</i>					. ,	_			, ,,,
Individuals - Reporting		1	0	0.50	0	\$43.93	\$0.00	40	ф0		
Individuals - Recordkeeping	0	1	0	0.25	0	43.93	0.00	\$0	\$0		
Private Sector - Reporting	0	4	0	0.50	0	41.53	0.00	0			
Private Sector - Recordkeeping	0	1	0	0.25	0	41.53	0.00	0	U		
Government - Reporting	4	4		0.50	1	59.90	59.90				
Government - Recordkeeping	1	1	1	0.25	0	59.90	0.00	0	U		
Subto	tal 1		1		1		\$59.90		\$0	4	\$287.40
Single Application for Multiple Acti	vities 50 CFR 13.1	1(d)(1) (NEW)									
Individuals - Reporting	1	1	1	160.00	160	\$43.93	\$7,028.80	\$1,500	\$1,500		
Individuals - Recordkeeping	1	1	_	40.00	40	43.93	1,757.20	Φ1,500	Φ1,500		
Private Sector - Reporting	1	1	1	160.00	160	94.58	15,132.80	1,500	1,500		
Private Sector - Recordkeeping	1	1	_	40.00	40	94.58	3,783.20	1,500	1,300		
Government - Reporting	1	1	1	160.00	160	59.90	9,584.00	1,500	1500		
Government - Recordkeeping		1	1	40.00	40	59.90	2,396.00	1,500	1500		
Subto			3		600		\$39,682.00		\$4,500	20	\$4,311.00
Amendment - Single Application for	r Multiple Activitie	s 50 CFR 13.1	.1(d)(1) <i>(NEV</i>	-				_			
Individuals - Reporting	1	1	1	5.00	5	\$43.93	\$219.65	\$0	\$0		
Individuals - Recordkeeping	-	-	_	0.50	1	43.93	43.93	40	40		
Private Sector - Reporting	1	1	1	5.00	5	94.58	472.90	0	0		
Private Sector - Recordkeeping	_	-	_	0.50	1	94.58	94.58				
Government - Reporting	1	1	1	5.00	5	59.90	299.50	0	0		
Government - Recordkeeping		-		0.50	1	59.90	59.90				
Subto			3		18		\$1,190.46		\$0	4	\$862.20
Grand Total	2,628		2,628		5,056		\$242,041.58		\$13,900		\$376,350.33

^{*} Rounded to match ROCIS

Cost Calculation Legend (From question 12 in SSA) #1 - Standard BLS Rates

				Completion				Average		Avg. Time (Hrs)	
	Number of Annual	Number of Responses per		Time/ Response	Annual Burden	Hourly Labor Rate (Incl.	\$ Value of Annual	Nonhour Burden Cost	Total Annual Nonhour Burden	per Response for Gov't	Cost to Government
Regulation/Activity Respondents Respondent Responses (Hours) Hours* Benefits) Burden Hours (per Response) Cost Review (\$71.85/hour) Eagle Fatality Monitoring and Reporting (Eagle Incidental Take) 50 CFR 22											
Individuals - Reporting		,		114.00	0	\$43.93	\$0.00				
Individuals - Recordkeeping	0	1	0	114.00	0	43.93	0.00	\$0	\$0		
Private Sector - Reporting				114.00	1,710	94.58	161,731.80				
Private Sector - Recordkeeping	15	1	15	114.00	1,710	94.58	161,731.80	0	0		
Government - Reporting		_		114.00	0	59.90	0.00	_			
Government - Recordkeeping	0	1	0	114.00	0	59.90	0.00	0	0		
Subtotal	15	_	15		3,420		\$323,463.60		\$0	4	\$4,311.00
Reporting (In-time) Take of Eagles 50	0 CFR 22										
Individuals - Reporting	0	1	0	1.75	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.25	0	43.93	0.00	ΦО	Φ0		
Private Sector - Reporting	10	1	10	1.75	18	94.58	1,702.44	0	0		
Private Sector - Recordkeeping	10	1	10	0.25	2	94.58	189.16	U	U		
Government - Reporting	0	1	0	1.75	0	59.90	0.00	0	0		
Government - Recordkeeping	0	1	0	0.25	0	59.90	0.00	0	0		
Subtotai	10	-	10		20	-	\$1,891.60		\$0	1	\$718.50
Reporting Take of Threatened and Er	ndangered Spec	ies 50 CFR 22									
Individuals - Reporting	0	1	0	1.75	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.25	0	43.93	0.00	\$0	Φ0		
Private Sector - Reporting	1	1	1	1.75	2	94.58	189.16	0	0		
Private Sector - Recordkeeping	1	1	1	0.25	0	94.58	0.00	U	U		
Government - Reporting	•	4	•	1.75	0	59.90	0.00				
Government - Recordkeeping	0	1	0	0.25	0	59.90	0.00	0	U		
Subtotal	1	-	1		2	_	\$189.16		\$0	1	\$71.85
Annual Report - Eagle Depredation (F	Form 3-202-11)	50 CFR 22									
Individuals - Reporting	0	1	0	0.50	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	O	-	O	0.50	0	43.93	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	10	1	10	0.50	5	41.53	207.65	0	0		
Private Sector - Recordkeeping	10	-	10	0.50	5	41.53	207.65	Ö			
Government - Reporting	10	1	10	0.50	5	59.90	299.50	0	0		
Government - Recordkeeping		_	10	0.50	5	59.90_	299.50	U	0		
Subtotal		_	20		20	_	\$1,014.30		\$0	1.5	\$2,155.50
(ePermits) Annual Report - Eagle Dep	redation (Form	3-202-11) 50 C	FR 22								
Individuals - Reporting	0	1	0	0.33	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	· ·	-		0.50	0	43.93	0.00	45	**		
Private Sector - Reporting	10	1	10	0.33	3	41.53	124.59	0	0		
Private Sector - Recordkeeping	10	-	10	0.50	5	41.53	207.65	ŭ			
Government - Reporting	10	1	10	0.33	3	58.08	174.24	0	0		
Government - Recordkeeping		_		0.50	5	58.08_	290.40	Ŭ			
Subtotal			20		16		\$796.88		\$0	1.25	\$1,796.25
Annual Report - Eagle Exhibition (For	rm 3-202-13) 50) CFR 13, 21, an	id 22			* **	+				
Individuals - Reporting	0	1	0	0.80	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping				0.20	0	43.93	0.00				
Private Sector - Reporting	250	1	250	0.80	200	41.53	8,306.00	0	0		
Private Sector - Recordkeeping		_		0.20	50	41.53	2,076.50	, and the second			
Government - Reporting	100	1	100	0.80	80	59.90	4,792.00	0	0		
Government - Recordkeeping		-		0.20	20	59.90_	1,198.00	Ŭ			
Subtotal		000 40) -0 6-	350	••	350		\$16,372.50		\$0	0.5	\$12,573.75
(ePermits) Annual Report - Eagle Exh	inition (Form 3	-202-13) 50 CF	R 13, 21, and		0	440.00	40.00				
Individuals - Reporting	0	1	0	0.55	0	\$43.93	\$0.00	0.9	Φ0		

	.,,							ΦU	- Bu	
Individuals - Recordkeeping	Ŭ	-	ŭ	0.20	0	43.93	0.00	40	Ψ0	
Private Sector - Reporting	250	1	250	0.55	138	41.53	5,731.14	0	0	
Private Sector - Recordkeeping	250	1	250	0.20	50	41.53	2,076.50	U	U	
Government - Reporting				0.55	55	58.08	3,194.40			
Government - Recordkeeping	100	1	100	0.20	20	58.08	1,161.60	0	0	
Subt	total 350		350		263		\$12,163.64		\$0 0.33	\$8,298.68
Annual Report - Native American		3-202-14) 50 (CFR 22				, , ,			, , , , , , ,
Individuals - Reporting				1.75	0	\$43.93	\$0.00			
Individuals - Recordkeeping	0	1	0	0.25	0	43.93	0.00	\$0	\$0	
Private Sector - Reporting				1.75	0	41.53	0.00			
Private Sector - Recordkeeping	0	1	0	0.25	0	41.53	0.00	0	0	
, ,										
Government - Reporting	5	1	5	1.75	9	59.90	539.10	0	0	
Government - Recordkeeping	-4-1			0.25	10	59.90	59.90		40	#250.25
Subt		io	5	D 22 (a Dawei	10		\$599.00		\$0 1	\$359.25
(ePermits) Annual Report - Native	American Eagle Av	iary (Form 3-2	02-14) 50 CF			#40.00	#0.00			
Individuals - Reporting	0	1	0	1.50	0	\$43.93	\$0.00	\$0	\$0	
Individuals - Recordkeeping				0.25	0	43.93	0.00			
Private Sector - Reporting	0	1	0	1.50	0	41.53	0.00	0	0	
Private Sector - Recordkeeping	O .	-	Ü	0.25	0	41.53	0.00	o o	· ·	
Government - Reporting	5	1	5	1.50	8	58.08	464.64	0	0	
Government - Recordkeeping	5	1	5	0.25	1	58.08	58.08	U	U	
Subt	total 5		5		9		\$522.72		\$0 0.75	\$269.44
Annual Report - Eagle Incidental 1	Гаке (Form 3-202-15) 50 CFR 22	Title Correct	ion)						
Individuals - Reporting	5	1	5	20.00	100	\$43.93	\$4,393.00	ΦO	ΦO.	
Individuals - Recordkeeping	5	1	5	20.00	100	43.93	4,393.00	\$0	\$0	
Private Sector - Reporting				20.00	1,600	94.58	151,328.00			
Private Sector - Recordkeeping	80	1	80	20.00	1,600	94.58	151,328.00	0	0	
Government - Reporting				20.00	200	59.90	11,980.00			
Government - Recordkeeping	10	1	10	20.00	200	59.90	11,980.00	0	0	
Subt	total 95		95	20.00	3,800		\$335,402.00		<u>\$0</u> 1.5	\$10,238.63
(ePermits) Annual Report - Eagle		m 3-202-15)		tle Correction	,		4000, 102.00	_	2.0	420,200.00
Individuals - Reporting		0 202 20, 0		18.00	90	\$43.93	\$3,953.70			
Individuals - Recordkeeping	5	1	5	20.00	100	43.93	4,393.00	\$0	\$0	
• =						94.58	136,195.20			
Private Sector - Reporting	80	1	80	18.00	1,440			0	0	
Private Sector - Recordkeeping				20.00	1,600	94.58	151,328.00			
Government - Reporting	10	1	10	18.00	180	58.08	10,454.40	0	0	
Government - Recordkeeping				20.00	200	58.08	11,616.00		105	40 500 40
Subt		2 202 1C\ E	95 0 CED 33		3,610		\$317,940.30		\$0 1.25	\$8,532.19
Annual Report - Eagle Nest Take a	and Monitoring (For	m 3-202-16) 5	0 CFR 22	0.00	0.4	#40.00	#4.054.00			
Individuals - Reporting	3	1	3	8.00	24	\$43.93	\$1,054.32	\$0	\$0	
Individuals - Recordkeeping				8.00	24	43.93	1,054.32			
Private Sector - Reporting	8	1	8	8.00	64	94.58	6,053.12	0	0	
Private Sector - Recordkeeping	· ·	_	, and the second	8.00	64	94.58	6,053.12			
Government - Reporting	4	1	4	8.00	32	59.90	1,916.80	0	0	
Government - Recordkeeping		_	7	8.00	32	59.90	1,916.80	o	0	
Subt			15		240		\$18,048.48		\$0	\$1,077.75
Annual Report - Eagle Nest Take a	and Monitoring (For	m 3-202-16) 5	0 CFR 22 (eF	ermits)						
Individuals - Reporting	3	1	3	7.00	21	\$43.93	\$922.53	\$0	\$0	
Individuals - Recordkeeping	3	1	- 3	8.00	24	43.93	1,054.32	ΨU	Ψ0	
Private Sector - Reporting				7.00	56	94.58	5,296.48		2	
Private Sector - Recordkeeping	8	1	8	8.00	64	94.58	6,053.12	0	0	
Government - Reporting				7.00	28	58.08	1,626.24			
Government - Recordkeeping	4	1	4	8.00	32	58.08	1,858.56	0	0	
Subt	total 15		15	0.00	225	30.00	\$16,811.25		\$0 0.75	\$808.31
Eagle Recovery Tag (Form 3-2480							Ψ10,011.20		0.70	Ψ000.01
(i oiiii 0-2400	,									

Individuals/Households	0	2	0	0.25	0	\$43.93	\$0.00	\$0	\$0		
Private Sector	0	2	0	0.25	0	41.53	0.00	0	0		
State/Local/Tribal	250	2	500	0.25	125	59.90	7,487.50	0	0		
Subtotal	250		500		125		\$7,487.50		\$0	0.5	\$17,962.50
Report - Tribal Eagle Retention - Acqu	uisition Form (F	orm 3-1591) 🚦	0 CFR 22								
Individuals - Reporting	0	1	0	1.00	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.25	0	43.93	0.00	ФО	ΦО		
Private Sector - Reporting	0	1	0	1.00	0	41.53	0.00	0	0		
Private Sector - Recordkeeping	U	1	0	0.25	0	41.53	0.00	U	U		
Government - Reporting	20	4	20	1.00	30	59.90	1,797.00	0	0		
Government - Recordkeeping	30	1	30	0.25	8	59.90	479.20	0	U		
Subtotal	30		30		38		\$2,276.20		\$0	2	\$4,311.00
Report Take of Eagles (3rd and 4th Eagl	les) 50 CFR 22.	250(d)(2) and	(d)(3)) <i>(NEW)</i>	l e							
Individuals - Reporting	1	1	1	1.00	1	\$43.93	\$43.93	\$0	\$0		
Individuals - Recordkeeping	1	1	1	1.00	1	43.93	43.93	ФО	ΦО		
Private Sector - Reporting	1	1	1	1.00	1	94.58	94.58	0	0		
Private Sector - Recordkeeping	1	1	1	1.00	1	94.58	94.58	U	U		
Government - Reporting	4	4		1.00	1	59.90	59.90				
Government - Recordkeeping	1	1	1	1.00	1	59.90	59.90	0	O		
Subtotal	3		3		6		\$396.82		\$0	40	\$8,622.00
Grand Total	1,279		1,529		12,154		\$1,055,375.95		\$0		\$82,106.60

^{*} Rounded to match ROCIS

Cost Calculation Legend (From question 12 in SSA) #1 - Standard BLS Rates

	Number of	Number of		Completion	Annual	Hourly Labor		Average	Total Annual	Avg. Time (Hrs)	
Regulation/Activity	Number of Annual Respondents	Responses per Respondent	Total Annual Responses	Time/ Response (Hours)	Annual Burden Hours*	Hourly Labor Rate (Incl. Benefits)	\$ Value of Annual Burden Hours	Nonhour Burden Cost (per Response)	Total Annual Nonhour Burden Cost	per Response for Gov't Review	Cost to Government (\$71.85/hour)
Permit Reviews 50 CFR 22 (NEW TIT	TLE)										
Individuals - Reporting	0	1	0	17.00	0	\$43.93	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	O	3.00	0	43.93	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	4	1	4	17.00	68	86.64	5,891.52	0	0		
Private Sector - Recordkeeping	4	1	4	3.00	12	86.64	1,039.68	U	U		
Government - Reporting	0	1	0	17.00	0	59.90	0.00	0	0		
Government - Recordkeeping	U	1	U	3.00	0	59.90	0.00	U	U		
Subtotal	1 4	-	4		80	_	\$6,931.20		\$0	40	\$11,496.00
Audits 50 CFR 22 (NEW)											
Individuals - Reporting	1	1	1	8.00	8	\$43.93	\$351.44	\$0	\$0		
Individuals - Recordkeeping	1	1	1	2.00	2	43.93	87.86	ΨΟ	ΨΟ		
Private Sector - Reporting	1	1	1	8.00	8	86.64	693.12	0	0		
Private Sector - Recordkeeping	1	1	1	2.00	2	86.64	173.28	U	U		
Government - Reporting	4	1	4	8.00	8	59.90	479.20	0	0		
Government - Recordkeeping	1	1	1	2.00	2	59.90	119.80	U	U		
Subtotal	3	-	3		30	_	\$1,904.70		\$0	40	\$8,622.00
Pre-construction Eagle Exposure Sur	rveys 50 CFR 2	2									
Individuals - Reporting	0	1	0	50.00	0	\$43.93	\$0.00	ΦO	\$0		
Individuals - Recordkeeping	0	1	0	50.00	0	43.93	0.00	\$0	Φ0		
Private Sector - Reporting	45	1	45	50.00	750	86.64	64,980.00	0	0		
Private Sector - Recordkeeping	15	1	15	50.00	750	86.64	64,980.00	0	U		
Government - Reporting	•	4		50.00	0	59.90	0.00				
Government - Recordkeeping	0	1	0	50.00	0	59.90	0.00	0	Ü		
Subtotal	15	-	15		1,500	_	\$129,960.00		\$0	20	\$21,555.00
Labeling Requirements 50 CFR 22 (/	NEW)										
Individuals/Households	10	1	10	0.25	3	\$43.93	\$131.79	\$0	\$0		
Private Sector	475	4	1,900	0.25	475	41.53	19,726.75	0	0		
State/Local/Tribal	475	_ 4	1,900	0.25	475	59.90_	28,452.50	0	0		
Subtotal			3,810		953		\$48,311.04		\$0	0.25	\$68,437.13
Compensatory Mitigation 50 CFR 22	(NEW)										
Individuals - Reporting	16	1	16	32.00	512	\$43.93	\$22,492.16	\$7,440	\$119,040		
Individuals - Recordkeeping		_		8.00	128	40.90	5,235.20	71,112	,,,		
Private Sector - Reporting	58	1	58	32.00	1,856	86.64	160,803.84	7,440	431,520		
Private Sector - Recordkeeping	00	-	CC	8.00	464	86.64	40,200.96	1,110	101,020		
Government - Reporting	16	1	16	32.00	512	55.47	28,400.64	0	0		
Government - Recordkeeping			10	8.00	128	59.90_	7,667.20	O			
Subtotal			90		3,600		\$264,800.00		\$550,560	20	\$129,330.00
Requests for Reconsideration Assoc	iated with Eagle	e Permits (Susp	ension and F	-							
Individuals - Reporting	35	1	35	2.00	70	\$43.93	\$3,075.10	\$0	\$0		
Individuals - Recordkeeping	30	-		1.00	35	43.93	1,537.55		Ψ0		
Private Sector - Reporting	8	1	8	2.00	16	41.53	664.48	()	0		
Private Sector - Recordkeeping	Ü	-	J	1.00	8	41.53	332.24	O	-		
Government - Reporting	2	1	2	2.00	4	59.90	239.60	0	. 0		
Government - Recordkeeping		_		1.00	2	59.90_	119.80	· ·	0		
Subtotal			45		135		\$5,968.77		\$0	4	\$12,933.00
* Rounded to match ROCIS	1,117		3,967		6,298		\$457,875.71		\$550,560		\$252,373.13

^{*} Rounded to match ROCIS

Cost Calculation Legend (From question 12 in SSA) #1 - Standard BLS Rates